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B 1 Fig.1 Schematic drawing of double-focusing mass spectrometer QQHQC. Horizontol and verti-

cal ion trajectories are shown in the lower part.
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% 1 Table I Results of computer calculation for different parameters of QQHQC type mass
spectrometer. Values of parameters, second and third order aberration coefficients and
important characteristics are given.
20 AM=1! :GM=. 008 :GE=. 02 :Cl=0! :QL=.11 :&n=, 035
30 wM=30! s WE=80! tAE=. 5§ :E1=-35"! tE2=-35!:QqK1=-5.7 :QK3=-3. 27
40 Q1=0! :Q2=0: JR1=Q! :R2=01!
50 D1, & :DL2=.7 -DLI=.T :DL4=. 5252 .pL6=.1
X A C D Y B GA GY GB LF
a 0.3193 (.0000 -0.8204 0. 0000 1.2262 -0.4642 10.5886 0.0288 —-0.4528 O0.8586
6.0151 3.1409 -1.1183 -0.4518 ~1.8335 1.5093 11.0024 11,2250 -1.0826
AA AD DD YY YB BB IMA IMB C/X DLT
-515. 231 —12.438 0.225 -0.440 0. 400 0. 386 0.824 -0.005 2. 892 5. 146
AAA AAD ADD DDD AYY AYB ABB DYY DYB DBB
20783. 00 21.08 146.68  —-6.72 2355.80 -597.62 186.28 -6. 72 23. 85 -4. 38
30 WM=30! :WE=80! :AE=.5 :E1=-35! :E2=-35!:QK1=-5.7 :QK3=-3. 27
40 Qi=0! :Q2=0!, :R1=-,7056:R2=-~. 7056
§0 DL1=.3 :DL2=.7 :DL3=.7 :DL4=. 9367 :DL5=.1
X A o D Y B GA GY GB LF
b 0.3182 O0.0000 -0.9199 0.0001 1.2251 -0.4638 10.5886 0.0288 -0.4528 O0.8578
6.0174 3.1420 -~1.1186 -0.4521 ~1.8364 1.5111 11.0043 1.2250 -I1.0826
AA AD DD YY YB BB IMA IMB CcsX DLT
-0.009 -8.111 0.234 -—3.956 6. 666 ~2.816 0.823 -0.006 2. 891 5. 146
AAA AAD ADD DDD AYY AYB ABB DYY DYB DBB
215.01 -546.59 145.61 -6.71 94.18 -332.75 145.44 58.60 -34.47 -13.18
30 wM=30! :WE=80! :AE=. 361 :El1=-35"! :E2=-351:QK1=-5.7 :QK3=-3. 27
40 Q1=0! :Q2=0! :Rl=-. 71638:R2=-. 7638
50 DL1=.3 :DL2=.7 :DL3=.7 :DL4=1.0108:DL5=. 1
X A o D Y B GA GY GB LF
c 0.1517 0.0000 ~0.4385 ~0.0001 2.6284 -1.6220 10.5886 O0.0288 -0.4528 0.2782
12. 3450 B6.5903 -1.5472 -0.8748 -2.1051 1.67%4 11.0043 1.2250 -1.0826
AA AD DD YY YB BB IMA . IMB CsX DLT
-0. 038 -0.008 -0.180 -2.489 4,092 -1.704 0.047 -0. 868 2. 891 4,447
AAA AAD ADD DDD AYY AYB ABB DYY DYB DBB
-2271.32 332.47 5. 34 ~-2.11 106.15 =-250.82 104.21 37.91 -22.40 =-7.175
30 WM=30! :WE=80! :AE=.366 :E1=-35! :E2=-35!1:QK1=-5.7 :QK3=-3. 27
40 Q1=0! :Q2=.3 :Rl=-. 7635:R2=-. 7635
S0 DL1=.3 :DL2=.7 :DL3=.7 :DL4=1. 008 :DL5=.1
X A C D Y B GA GY GB LF
d 0. 1557 0.0000 -0.4502 0.0001 2.5879 -1.5885 10.5886 0.0288 -0.4528 0.23809
12. 0312 6.4183 -1.5261 ~0.854]1 ~-2.0950 1.6730 11.0043 1.2250 -1.0826
AA AD bD YY YB BB IMA IMB CcsX DLT
0.011 -0.000 -0.186 0.793 -0.151 +0.336 0.077 -0.837 2. 891 4.464
AAA AAD ADD DDD AYY AYB ABB DYY DYB DBB
-2277.35 328.07 5. 66 -2.07 108.73 -264.54 111.57 -7. 64 1. 70 =4. 34
30 WM=30! :WE=74! :AE=, 488 :E1=-35! :E2=-35!:QK1=-5.7 :QK3=-3. 27
40 Q1=0! :Q2=.7 :R1=-. 6738:R2=-. 6738
50 DL1=.3 :DL2=.7 :DL3=.5863 :DL4=1.2302:DL5=.1
X A C D Y B GA GY GB LF
e 0.2935 0.0000 -0.7581 -0.0000 1.0908 -0.4819 9.0703 -0.2813 -0.3326 0.6474
6.6200 3.4061 -1.3271 -0.6282 -2.1605 1.8908 10.2220 0.7979 -0.9172
AA AD DD YY YB BB IMA IMB csX DLT
0. 001 0. 061 -0.330 1.874 -0.583 -0.591 0.086 -0.618 2. 583 S. 024
AAA AAD ADD DDD AYY AYB ABB DYY DYB DBB
-0.60 -23.79 80. 80 -7.29 26.43 -217.95 109.82 -6.15 -11.29 -3.04
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chamber) . M H,C/X BREBREH A. KK EH Ax I, IMEBKNAEHREET
BB RAS. &E,DLT ZFHFTHEFRELSK I EBEMN T HEMNIIES
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mE 1 REARET RIRE FTESBEFE S L EFEES AR, R
RPN, AT HRELRRTEX, GRS R A 30°, BN THER
EREBUKANHHA—35°. BMONEXLEEN |, BEEREE bR EEREH. R
EIRMT . =80°r.=0.5, 5 B (A B th{E{E FEM DL1=0. 3,DL2=DL3=0. 7,DL5
=0.1, DL4 #1 DL6 (EARENEERGF A=0.D=0 FIILKRE.Q BHEMNBE QK1 £
RV ERA A GB 3{H S 1 BT s 1 B/ 3E . OK3 FEERBI AR EMH B
WIEXTHELE 1 U THRE. SARARESR, #H# R1=R2=Q1=Q2=0,

FI@RRE LARSHSRETHNE R AE 4 TESHE, TEAMRITE Y
Wt ESER. NERTUEFL AA M AAA EHEF K. HEMEMGHAAEAHE, |
FAAEERYE 1 ZRERGFNHEL TR ATER B, FFUER IO PR IIFIH Y
£ 5RIFR2 AERNCHTHEERLS RI=RDAA HE/WER EBEMHEY AA
BN AAA HEHBHAE S, BTN 2 REEFZREHTHY K.

SRR ERY AD BB AE WA HE, EXHELT . T 1 RBESX
hE & AE BSUR T BUE, B L AR i35 DL4 #1 DL6 ff A=D=0 3L . BIMLER



32 51 W % i 1996 £E

Bt A4k R1=R2 ff AA=~0, XHEREHH . A AAMAD FZER 0.1 ITFHIE. AE
THERERICOFARL.

EEXNEFRERET . AF DD BELER/NFTH 2K KENMREF YY.YB.BB,
X UBHBEEGAFAMEQL R QBRI WE. XHE—F,2 RIGEHERNAILE
WENBRE HERERIDOFTL Y., B3 Z4RAME. L 3 REENBNET

- WOV IERURXEB B T WELAR I B R AR AE . AT B2 3 RREX R, B

DA SCHR 4 BT H A AREE B2 3 REL FMIPRE 100 LT,
EZETFHRERSET,SREZERIMAAA ZDLIMERRK, BS AAD 5 WE #
ARFEHF, N AAA W LUBEAE DL3, AAD AT LAiSd 503F WE B9 323/ (R m
REEDL3IM WE,) R2ENRERMLEFEUE FUFBKER (- (DB RIEMH
SHEBRER/PEELE AAAAADH, - EHWA /M AMBERLH#TIHE, XHKFBR
HERPRRIOQFRAER. NERFTTUES YY.YB.BB KT &, B8 X
ABEN, W LFMSCER 2 1k WM, SEEBIXEMNERETHET.

4 tEEEHINE

RIONERERMYBETPANBE. BEEFEC/X MK HHELKDLT 4
ANENEEBEN. ATRFXNMEHHR E1=E2=—37°,3#{E DL1 #1 QK1 #{&tk
MKFR EXHRGT 2RMIR/ET/PMMSERERT QFBE . ZERC/XET
EHBEANA,T DLT JLPRARE.
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HENREGERIMR2ATHEEEUM, XH—KREXTI OFRHAEXGET. ERBE
THRAH%E. MHmM%A DL2.DL5. QK1 RABI(OMER. EXMFR T . 2%H
IERERKIL 1 /N, DLT WABRE. X1 (OEBEMIMA 4 /6 DLT &4 4
T, () RBURIME A 32°T i DD /h#| 0. 036 AIHIF .

MU EZERATUE S, ANPUEFHE RSB FHOEE YY.YB.BB BRI KL, %
BERBEENSFERFH AT RE. EXFHHE T OHE y FEERAEREH Y f1 B,
X ZBIFT WM 1 DLT #9RR &1, R 2 3CHR 2 Bk 49 AR 28 & 44, 50 7T LUK 3Rk
N
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8 :QK3=-3.1

GY GB
-0.2777 -0.3185

0. 88383 -0. 7465

IMB Cc/sX
~-0. 866 3. 001

DYY DYB
-0. 92 -4.78

8 :QK3=-3.2

GY GB
0. 0517 -0. 3905
1. 4526 -0.8463
IMB Cc/X
-0.878 3. 343
DYY DYB
=24.25 5.61

9 :QK3=-3.2

GY GB
—0. 2543 -0. 4581
0. 5848 -1.0046

IMB c/X
-0.974  3.211
DYY = DYB

-12.36 -4.78

25 :QK3=-3.3

GY GB
—0. 2036 -0. 3829
0. 8204 -0. 8400

IMB C/X
-0. 830 3.175
DYY DYB
-22.03 -3.20

2 :QK3=-3.3

GY GB
-0.1609 -0.4218
'0. 89653 -0.9390

LF
0. 6086

DLT
4.850

-5. 66

LF
0. 5467

DLT
4,722

DBB
~5.80

LF
0.5518

DLT

4. 659
DBB
-9. 01

LF
0. 5849

DLT
4.498

DBB
-8.29

LF
0.5615

DLT
4. 563
DBB

% I Tablell Results of computer calculation for high performance examples of QQHQC type ass
spectrometer.
20 AM=1! :GM=. 008 :GE=. 02 :C1=0! :QL=. 1) :QR=.035
30 wWM=30! tWE=T21 tAE=. 4458 :E1=-37! +E2=-37! .UK1=-5
40 Q1=75! :QZ=.1798 :Ril:=-, 7389:R2=- 7280
SU DL1= 4 :DL2=.7 :0L3=.51 :DL4=1.2019:DL5=.1
X A C D Y B GA
a 0.2353 0.0000 ~-0.7062 0.0001 2.3570 -0.9112 10.4373
£.8620 4.2477 -1.3205 -0.6133 -1.9712 1.1862 11.9761
AA AD DD YY YB BB IMA
-0.048 -0.066 -0.186 0. 835 0.679 -0.570 -0.000
AAA AAD ADD DDD AYY AYB ABB
37.67 -45.37 84. 82 -6.78 14. 67 -207. 02 66. 92
30 WM=30! :WE=73! :AE=. 408 :E1=-37! :E2=-371:QK1=-5.
40 Q1=0! :Q2=,37 :Rl=-,3872:R2=-1.2
50 DL1=.4 :DL2=.7 :DL3=.635 :DL4=.9665 :DLS6=.1
X A C D Y B GA
b 0.1903 O0.0000 -0.6363 0.0001 2.8205 -1.0428 12. 1542
8.4491 §5,2525 -1.2937 -0.5883 -2.0611 1.1165 12.8195
AA AD DD YY YB BB IMA
0.003 -0.027 -0.094 2.344 -0.214 -0.365 0. 208
AAA AAD ADD DDD AYY AYB ABB
21. 86 33. 74 86. 06 ~4.72 9. 66 -144.15 45, 58
30 wWM=30! :WE=71.5 :AE=.417 :E1=-37! :E2=-37!:QK1=-5,
40 Q1=0! :Q2=,38 :Rl=-, 3722:R2=-1.2
50 DL1=.4 :DL2=.6 :DL3=.641 :DL4=.9521 :DL5=. 14
X A [} D Y B GA
c 0.1885 0.0000 -0. 6406 -0. 0001 1.5651 —1.1966 11.6561
8.2228 5.0107 -1.3132 -0.6031 -0.8618 1.2977 12. 3269
AA AD DD YY YB BB IMA
0. 032 0.075 -0.114 1.232 -0.643 ~0.633 0. 443
AAA AAD ADD DDD AYY AYB ABB
14.25 54.15 89.07 -5.39 -57.99 -43.25 53. 68
30 wM=30! tWE=72! tAE=. 411 :E1=-41! :E2=-40! :QK1=-6.
40 Q1=0! :Q2=.51 :Rl=-, 5875:R2=-1. 215
50 DL1=.4 :DL2=.55 :DL3=.54 :DL4=.8228 :DL5=.12
X A o} D Y B GA
d 0.2107 0.0000 -0.6691 0.0001 1.8852 —0.8548 11. 3460
8.0481 4.7437 -1.2612 -0.5525 —-1.4881 1.2049 12. 3772
AA AD DD YY YB BB IMA
-0. 025 0.070 -0.093 1.988 -0.548 -0.585 0. 423
AAA AAD ADD DDD AYY AYB ABB
-9.13 56. 68 98. 15 -5.24 -73.72 -77.29 47. 98
30 WM=32! :WE=79! :AE=. 432 :E1=-39! :E2=-38!:QK1=-6.
40 Q1=0! :Q2=,62 :Rl=-,4882:R2=-1.25
50 DL1=.4 :DL2=.55 :DL3=.592 :DL4=.8751 :DL5=.1
X A C D Y B GA
e 0.1916 0.0000 -0.6750 -0.0000 1.7986 ~-0.9015 11.8733
8. 7339 §5.2167 -1.2530 -0.5779 -1.3665 1.2407 12.7169
AA AD DD YY YB BB {MA
0.021 -0.017 -0.036 2.044 -0.617 -0.602 0. 635
AAA AAD ADD DDD AYY AYB ABB
8.71 37.19 78. 18 -3.58 -56.58 -78.54 50. 23

iMB csX
—0. 452 3.523
DYY DYB
-20. 56 -4.02

-8.09
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FHEPEHZ 1m, FHREEFT R S=100um, FHW A P4 d=230um #1TiTH.

H 2z BERBERWNBIN —MEENEE, (A .B). O .4 ERIH
(@) . (b).(e).(e). MMBATHEEFRBEDINES, PMFRTRA G E Fild BN K%
SESH. HOHFRHMEREL/MERTH. ZEZOFILFERT BEREL WA
BW=ZATERIE. 5IMESKRIREIT 1004 B F&0EE T ik,

REHA—MREERMAZRR QMO B TREFULERIEEE.FEH
EUATHREMNRBEBELEREN., 32 3RQ2EFZBHEHE, FHEQAES
REABAAA EXFE 20000 B L AR - FBEYL omm iR (EERBMIES
EEr R SR BERT LA G ISE((NERLCHEMIHFRHT2RENAAF
—515 ZKMRED, X—FERAMIEITHABRE, 3 RE{E—BEBBRK . RERT
LB 1% (ghost peak), HIMORYERHY 2 RIGEEH /DT 3 RIREFEHK KK (B
BERIDBREEMEKRE M.

H 3 RIEERETHANBE S HETENHATF. AIRRIE, BRR I OMBETFI
FIETE ., MHERGSE 2 Z2ME, ML ERLERT S=25um, WL REE d=5um 17t
B 0% RS HA 4P F(A) R 1000, (B)TAE % 58000,DD 1 3 HIQEE /Y
(B)BE THYKYHE.
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B 2 Fig. 2 Intensity distribution of the simulated mass spectrum peak. A,B,C,D correspond to the

cases a,b,c,e of Table 1 respectively. The slit conditions are s =100um and d=30um.
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B 3 Fig. 3 Intensity distribution of the simulated mass spectrum peak. A and B correspond to the
cases Table 1(e)and Table 2(e) respectively. The slit conditions are s =25um and d =
Spm.
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XERMNG A QQHQC RENE FRA¥ ALK MRXEMBA T EFHEWRAH
WYERER BT, — BRI, XEFEH IR AHER 1 HEMURFRBEEEHE T
FRE, ARMET TR 2 M 3 RIGERUBERNESIMEREAEH  HRRE
FTHEVHES LR WA RAERBEERFINGFLER . FHERETBE, LFUKH
FHGEEAR THFRE REHTEMHEHETELIHIKE.

XEFANEFRERET, AREACHBEKTRTHFRELRK 4 5. U5
HRERERIT. XEREEHAFARRRELENBETT REMH 40°, BTFRIESK
6. e ML ERBHYANT ,HERR TR, KREHFEERE A 200EH  UELK
dr. U T BRI EHENRETHEEY.
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3 EMBLE T HEF
HEFREE 5§ 2 Son B FE B R 3 %ad, B BASIC EE .G AF
fié {5 A% 36K, ] NEC-9801VX N AR HENTIRFATFE 128, ¥ REMEFBF
BRESEILF 530 5 HHE . ESRICEE 5. A B RRET AR 3 ZTUBFLE 259 ME
K. BERNSEBERFTAYHXEXEMT .

R

1—X 2—A 3—C.
5—-XN 6—XA 7—XC
9—AA 10—AC 11—AD
13—CD 14—DD 15—YY
17—BB 18—XXX 19—XXA
21—XXD 22—XAA 23—XAC
25—XCC 26—XCD 27—XDD
29—XYB 30—XBB 31—AAA
33—AAD 34—ACC 35—ACD
37—AYY 38—AYB 39—ABB
41—CCD 42—CDD 43—CYY
45—CBB 46—DDD 47—DYY
49—DBB 50—Y 51—B
53—YA 54—YC 55—YD
57—BA 58—BC 59—BD

FERFYIDEMBFSMT .

400 M BHEMEMLEENO

405 MAEBFEHLERNO

410 R¥FEBEFHEREIT M

420 KFE DLMAMZIE BHEK

430 WL RRBREASER

440 ITENHBAREER

450 {BKE DL B ZRIERIEREEH

460 Wi BR BHEKEZX

470 {TEfH BEMBEZE

480 M EBER AMMEER

490 FTENH A B E

500 {8 AXBMZRERA A FMANU)

600 HIHAOBLHH B HEKE

4—D
8—XD
12—CC
16—YB
20—XXC
24—XAD
28—XYY
32—AAC
36—ADD
40—CCC
44—CYB
48—DYB
52—YX
56—BX



R = B R I B Ok 37

650 I OB%FR B ERK

700 HiHADB%GHA B EKE

750 BEGHE D% B AR

800 FMEFEA &AM BEMK

900 HMEMSREGH B HEKE

1000 H5EMH Q HSEA MANU

1100 Q EHEM BEREENE

1200 8 HEH B A% (XHB%E)

FERERNTT BRI E B ZEE A BREFFR, KRS F2E7)0UFAHRM R B &

REAEs, ARBHRL SR BN EhZEKETEHEFAREA=0ML. UTH

ZERFAHLSTHEE.
(2FEBHER)
10 CLEAR :DIM A(2,59), B(2,59) :DEFINT L,J
20 AM=11! :GM=. 008 :GE=. 02 :C1=0! :QL=.11 :QR=. 035
30 wM=32! :WE=79! :AE=. 432 :E1=-39!¢ :E2=-39!:QK1=-6.2 :QK3=-3.3
40 Q1=0! :Q2=, 62 :Rl=-.4882:R2=~1.25
50 DL1=.4 :DL2=,55 :DL3=,582 :DL4=. 8751 :DL5=.1
100 G=GE/AE :H=GM/AM :M=QR : AE2=AEXAE :AE3=AE2X%AE :AM2=AMXAM :AM3=AM2*%AM
110 IE1A=. 1549%GxG :IE1B=. 152%G*G : 1IE4A=-. 3027%G : IE4B=~, 4535%G
120 IES=. 5657/G :1E6=-. 002 : IE7=. 05958%G :1E8=. 002
130 IM1=2.8 *HxH : IM4=-1. 04 *H
140 IQl=. 209 *xMxM : 1Q2=-. 07678%MxM*xM :1Q3=. 055]18*MxMxM :1Q4=—. 3306%M
200 GOSUB 405 :A(Cl, 1)=1! :A(C1,2)=DL1 :A(2,2)=1! :A(1,50)=1! :A(1,51>=DL1 :A (2,51
y=1!
210 QK=QK! :GOSUB 1100 :GOSUB 1000
230 DL=DL2 :GOSUB 450 :GOSUB 1000
255 DL=DL3 :GOSUB 450
260 Z1=A(1,50) :22=A(1,51) :Z6=A(1,2) :PRINT 2Z1,Z2,7Z6
265 GOSUB 700 :GOSUB 500
270 GOSUB 800 :GOSUB 500
280 GOSUB 750 :GOSUB 500
285 Z3=A(1,50) :Z4=A(1,51) :Z7=A(1,2) :PRINT 2Z3,Z4,Z7
295 DL=DL4 :GOSUB 450
315 QK=QK3 :GOSUB 1100 :GOSUB 500 :Z8=A(1, 2)
320 DL=DLS :GOSUB 450 :Z8=A(1,2) :PRINT Z8,2Z8
330 GOSUB 600 :GOSUB 500
335 GOSUB 800 :GOSUB 500
340 GOSUB 650 :GOSUB 500
350 DL=-AQ1,2)/A(2,2) :GOSUB 450
360 DLT=(WEXAE+WM) /180!%3. 1416+3!*QL+DL1+DL2+DL3+DL4+DLS+DL
370 CX=-A(1,3>/A(1,1) :PRINT DLT,CX
380 GOSUB 430 :END

390
400
405
410
420
=11
430
431

432
DL

433
434

GOSUB 440 :END

FOR L=1 TO 2 :FOR J=1 TO 59 :B(L,J>=0! :NEXT J :NEXT L :RETURN

FOR L=1 TO 2 :FOR J=1 TO 59 :A(CL,J>=0! :NEXT J :NEXT L :RETURN

GOSUB 400 :B(1, 1)=-=1!' :B(2,2)=-1! :B(1,50)=1! :B(2,51)=1! :RETURN

GOSUB 400 :B(1,1)=1! :B(1,2)=DL :B(1,50)=1! :B(1,51>=DL : B(2,2)=1! :B(2,51)
:RETURN

*PRINT FINAL RESULT’
PRINT USING "&

& X A C D Y B GA GY
GB LF *~

PRINT USING "##f, #888" ;A (1, 1),ACL,2),AQ,30,A0,4,A0,80,A(1,51),76,21,22,

PRINT USING "#88. #8887 1A (2,1),A(2,2),A(2,,A(2,4),A(2,500,A(2,51,27,23,Z4
PRINT USING "&

&7 AA AD DD YY YB BB IMA IMB
Cs7X DLT ~
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435 PRINT USING ~#ssiss. #%%~;AC1, 9 ,AC1,11),AC1,14),A(1,15),AC,16),A1,17),28,28,
CX,DLT
437 PRINT USING "&
87" AAA AAD ADD DDD AYY AYB ABB DYY
DYB DBB *
438 PRINT USING ~#u#insh 88" ;AC1,31>,A€1,33),A(1,36),AC),46),AC1,37),AC.282,A(1,3
9),AC1,47),AC1,48),AC1,49) :RETURN
440 *LPRINT FINAL RESULT'
441 LPRINT USING "&
& ;" X A c D Y B GA GY
GB LF -
442 LPRINT USING “wff. r##®";A(1,1),AC1,2),AC1,3),A%1,4),A(1,50),AC1,51),26,21,22
,DL
442 LPRINT USING "8t #t5™ ;4(2, 1), A2, 2),A(2,3),A(2,4),A(2,500,A(2,51),27,23,2Z4
444 LPRINT USING *& .
&":"  AA AD DD Yy YB BB IMA M
B c/X DLT "
445 LPRINT USING “##fis 888" ;A C1,9),AC1,11),AC1,14),AC1,15),AC1,16),AC1,17),28,29
,CX,DLT .
447 LPRINT USING "&
. &™:;™ AAA AAD ADD DDD AYY AYB ABB DY
Y DYB DBB " :
448 LPRINT USING #8888, #8°;A(1,31),A(1,33),A(1,36),A(1,46),A(1,37),A(1,38),A(L,
39),AC1,47),AC1,48),A(1,49) :RETURN
450 *DRIFT SPACE DL ; MATRIX MULTIPLICATION’
451 FOR J=1 TO 59 :A(1,J)=AC1,])+DL*A(2,J) :NEXT J :RETURN
460 *PRINT B-MATRIX’
461 PRINT USING "&
& ;" X A c ) XX XA XC XD
AA AC ¢
462 PRINT USING "##s. #ss8*;B(1,1>,B(1,2),Bd,3),B(1,4),B,5),B,6),B,T,B(,
8),B(1,9),B(1,10)
463 PRINT USING "###. #ss8":B(2,1),B(2,2),B(2,3),B(2,4),B(2,5),B(2,6),B(2,7),B(2,
8),B(2,9),B(2,10)
464 PRINT USING "&
& ;" AD cc CD DD Yy YB BB XXX
Y B -
465 PRINT USING "##as, #ss*;Bq,11>,B¢1,12),B1,13),B¢1,14>,B(1,15),B(1, 18),Bd, 1
7),B(1, 18),B(1,50),B(1,51)
466 PRINT USING "#uss#, ssu™:B(2,11>,B(2,12),B(2,13),B(2,14),B(2, 15),B(2,16),B(2, 1
7),B(2,18),B(2,50),B(2,51)
467 PRINT USING ~&
&™:"  AAA AAD ADD DDD AYY AYB ABB DYY
DYB DBB "
468 PRINT USING "##sss. s8°;B(1,31>,B(1,33),B(1,36),B(1,46),B(1,37>,B(1,38),B,3
9),B(1,47),B(1,48),B(1,49) :
469 PRINT USING ~#ssss. #8°;B(2,31>,B(2, 33>, B (2, 36),B(2,46),B(2,37),B(2,38),B(2, 3
9),B(2,47),B(2,48),B(2,49) :RETURN
470 'LPRINT B-MATRIX'
471 LPRINT USING &
& ;" X A o D XX XA Xc XD
AA AC "
472 LPRINT USING "###. B8##";B(1,1),B(1,2),B(1,3),B(1,4>,B(1,5),B(1,6),B¢1,7,Bx
,8),BC1,9,B(1,10)
473 LPRINT USING "##8. #u88":;B(2, 1>,B(2, 2>,B(2,3),B(2,4),B(2,5).B(2,6),B(2,7),B(2
,8),B(2,9,B(2,10)
474 LPRINT USING "
& ;" AD cc cD DD Yy YB BB XX
X Y B -
475 LPRINT USING "#H&. ##58°;B(1,11),B(1,12),B(1,13),B¢1,14>,B¢1, 15),B1, 16), B,
17,BC1,18),B¢1, 50 ,B(, 51
476 LPRINT USING "###. ss#i#s™;B(2,11),B(2,12),B8(2,13),B¢2, 14),B(2, 15),B(2, 16), B (2,
17),B(2.18),B(2,50),B(2,51)
477 LPRINT USING "&
& ;" AAA AAD ADD DDD AYY AYB ABB DY
Y DYB DBB "
478 LPRINT USING ~###. #3%8°:;B(1,31>,B(1,33)>,B(1,36),B(1,46),B(i,37),B(1,38),B(1,
39),B(1,47),B(1,48),B(1,49
479 LPRINT USING "#s#. #8857 1B(2,31>,B(2,33),B(2,36),B(2, 46),B(2, 37)., B(2, 38), B(2,
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39),B(2,47),B(2,48),B(2,49) :RETURN
480 'PRINT A-MATRIX®
481 PRINT USING "&
& ;" X A Cc D XX XA XC XD
AA AC "
482 PRINT USING "&#&. #888° A1, 1),AC1,2),A0,3),AC,4>,A(1,5),AC,6), A0, 1), AL,
8),A0,9),A, 10
483 PRINT USING "HE#. #8887 1A(C2, 1),A(2,2),A(2,4),A02, 1) 02,5/, 0(2.8),A(2,T),AC2,
8),AC2,9,A2, 10
484 PRINT USING "&
& ;" AD cc Co DD Yy Y5 BB XXX
Y B " :
485 PRINT USING “HHIE. 428" [ AC1,11),A(1,12).5¢1,13),AC1,14),AC8,15),A(C1,16),A(1,1
T AL 1B, ACY, 500 ACL, S .
486 PEINT USING "H#8:33#. #8858 ;A(2,11),A(2,12),A02,13),A(2,14),A(2,15),A(2,16),A(2,1
T7),A0,18),A02,50),A(2,51)
487 PEINT USING &
&" ;" AAA AAD ADD DDD AYY AYB ABB DYY
DYB DBB ~
488 PRINT USING "Huu##. #8°;A(1,31),A(1,33),AC1,36),AC1,46),AC1,37),A(1,38),A(1,3
9),A(1,47),A(1,48),A(1,49)
489 PRINT USING “#uuss. #8°;A(2,31),A(2,33),A(2,36),A(2,46),A(2,37),A(2,38),A(2,3
9),A(2,47),A(2,48),A(2,49) :RETURN
480 *LPRINT A-MATRIX’
491 LPRINT USING &
& ;" X A c D XX XA XC XD
AA AC -~
482 LPRINT USING ~###, HHHE";AC1,1),AC1,2),AC1,3),AC1,4),A,5,AC,6),AC,T,AC
BYL,A(L,9,AQ, 1D
493 LPRINT USING “###. 8888°;A(2,1),A(2,2),A(2,3),A(2,4),A(2,5),A(2,6),AC2,7),AC2
.8),AC2,9),A(2,10)
494 LPRINT USING "&
&7:"  AA AD DD YY YB BB GY1 GB
1 GY2 GB2 =
495 LPRINT USING “Hu#s#. 888" ;AC1,11),AC1,12),AC1,13),A(1,14),AC1,15),AC1,16),A(1,
17),A(1,18),A01,50),A(1,51)
496 LPRINT USING “##s#. 888" ;A(2,11),A(2,12),A(2,13),A(2,14),A(2,15),A(2,16),A(2,
17),A(2,18),A(2,50),A(2,51D
487 LPRINT USING "&
&7 1" AAA AAD ADD DDD AYY AYB ABB DY
Y DYB DBB *
498 LPRINT USING "#usug, 88" ;A(1,31),AC1,33),A(1,36),A(1,46),AC1,37),AC1,38),A(1,
39),A(1,47),A(1,48),A(1,49
499 LPRINT USING “sausasn. #8°;A(2,31),A(2,33>,A(2,36),A(2,46),A(2,37),A(2,38),A(2,
39),A(2,47),A(2,48),A(2,48> :RETURN
500 *MATRIX MULTIPLICATION’
501 X=A(1,1) :A=A(1,2) :C=A(1,3) :D=A(1,4) :7Z=A(2,1)> :G=A(2,2) :H=A(2,3) 1 I=A (2,
4) :¥Y=A(1,50) :B=A(1,51) :U=A(2,50) :V=A(2,51)
502 X5=A(1,5) :X6=A(1,6) :X7=A(1,7) :XB8=ACI,8) :X9=A(1,9) :X10=A(l,10)
503 X11=A(1,11) :X12=A(1,12) :X13=AC1,13) :X14=AC(1, 14D :X15=A(1, 15> : X16=A (1, 16)
504 X17=A(1,17) :A5=A(2,5) :A6=A(2,6) :A7=A(2,T) :A8=A(2,8) :A9=A(2,9)
505 A10=A(2,10) :Al11=A(2,11) :A12=A(2,12) :A13=A(2,13) tA14=A(2,14) : A15=A(2,195)
506 A16=A(2,16) :A17=A(2,17) :E3=AC(1,52) :E4=A(1,53) :E5=A(1,54) :E6=A(],55)
507 E7=A(1, 56) :E8=A(1,57) :E9=A(1,58):E10=A(1, 59) :U3=A (2, 52) : U4=A (2, 53)
508 U5=A(2,54) :U6=A(2,55) :U7=A(2, 56) 1UB=A(2,57):U9=A(2,58) :U10=A(2, §9)
S10 XX=X*X :XA=X*A :XZ=X*Z :XG=X*G :AASAX*A :AZ=AXZ:AG=A%G:ZZ=Z*Z:ZG=Z%G:GG=G*G
S11 YY=YxY :YB=Y%B :YU=Y*U :YV=Y%V :BB=B%B :BU=B%U:BV=B*V:UU=UxU: UV=UxkV:VV=Vxy
512 X18=A(1,18) :X19=A(1,18) :X20=AC1,20) :X21=ACl1, 21) :X22=AC(1,22) 1X23=A(1,23
:X24=A(1,24) :X25=A(1,25) :X26=A(1,26) :X27=A(1,27) :X28=A(l,28) :X29=AC(1, 29)
513 X30=A(1,30) :X31=A(1,31) :X32=A(1,32) :X33=AC1,33) :X34=AC(1,34) :X35=A (1, 35)
:X36=A(1,36) :X37=A(1,37) :X38=A(l,38) :X39=A(l,39) :X40=A(l,40) :X41=A(1,41)
514 X42=A(1,42) :X43=A(1,43) :X44=A(1,44> :X45=AC(1,45) :X46=A (1, 46) :X47=A(1,47
1X48=A(1,48) :X49=A(1,48) :A18=A(2,18) :A19=A(2,19) :A20=A(2,20) tA21=AC2,21)
A22=A(2,22) :A23=A(2,23) :A24=A(2,24) :A25=A(2, 25) tA26=A(2,26) :A27=A(2,27
§16 A28=A(2,28) :A29=A(2,29) :A30=A(2,30) :A31=A(2,31) :A32=4a(2, 32) tA33=A(2,33)
$A34=A(2,34) :A35=A(2,35) :A36=A(2,36) :A37=A(2,37) :A38=A(2,38) :A39=A (2,39
517 A40=A(2,40) :A41=A(2,41) :A42=A(2,42) :A43=A(2,43) Ad44=A(2,44) :A45=A(2,45
TA46=A(2,46) :A47=A(2,47) :A48=A(2,48) :A49=A(2,49)
518 HH=H*H :HI=H*I :1I=IxI :CC=C*C :DD=D*D :CD=CxD
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519 FOR L=1 TO 2

520 B1=B(L, 1) :B2=B(L, 2) : B3=B(L, 3) : B4=B (L, 4> : F1=B(L, 50) :F2=B(L, 51)

521 A(L, 1) =B1*X+B2%Z tACL, 2)=B1*A+B2*%G  :A (L, 3)=B1*C+B2%H+B3

522 ACL,4)=BI*D+B2%I+B4 :A(L,S50)=F1*Y+F2xU :A(L, 51)=F1%B+F2xV

523 BS=B(L,5) :E6=B(L,6) :B7=B(L,7)> :B8=B(L,8) :BS=B(L,9 :B10=B(L,10) :Bl1=B(L,
11> :B12=B(L, 12> :B13=B(L, 13) :B14=B(L, 14> :B15=B(L, 15):B16=B(L, 16) :B17=BiL,17)
:B51=21%B5*X+B6%Z :B52=2!*%B5*A+BE*G :B53=21%B5*C+B6%H :B54=2!*BS*D+B6*{

524 F3=B(L,52) :F4=B(L,53) :F5=B(L,54) :F6=B(L,5%) :F7=B(L,56) :Fe=B(L, 37> :F9=B(L

,58) :F10=B(L, 59) : B91=2!*BO*Z+B6*%X :B92=2!*B9*G+BE*A :R57=B53+B7 :B58=B54+B3

525 B93=2!*BO*H+B6XC :B94=21%BOx+B6*D :BT5=2!%B15*Y+B16xU :B76:2! %31S%B+516%Y

B71=21%B17*U+B16%Y :B72=2!%BI1T*V+B16*5 .E3Y=B93+BiG :B96=B94+B11

526 A (L, 5) =BI*X5+B2XA5+B5*YX+T5kXZ+BI¥2Z  :A (L, 6) =BI*X6+B2*AE+B51¥A+BS1*G

528 A (L, 7)=B1*¥X7+R2%A7T+35 1*C+BTHX+BY 1 *H+1 0:kZ

529 A(L.8)>=CT1%XB+R2#AB+BI1ADIIB*X+BYta]+3]1 12

525 A (L, 9)=B1¥X9 1323 AG+BSAA +EE*AG+BI*GE

531 AL, iC)=B1¥7[0+E2%A10+B52*C+BT*A+BI2*¥H+B10%G

532 ACL, 11)=BIkX11+B2%A11+B52xD+B8*A+BI2%I+B11%G

533 A<CL, 12)=B1%¥X12+B2%A12+B5%CC+ (B6*H+BT) *C+BI*HH+B10%H+B12

534 A (L, 13)=B1*X13+B2%A13+B57*D+BB*C+BI5*1+B11%H+B13

535 A (L, 14)=B1%*X14+B2%A14+B5*DD+ (B6*D+B11)*I1+B8*D+BS*x11+B14

536 ACL, 15)=B1*X15+B2%¥A15+B15%YY+B16%xYU+B17%UU

537 A (L, 16)=B1*X16+B2%A16+B75%B+B71%V

538 A(L, 17)=B1x*X17+B2%A17+B15%BB+B16%BV+B17%VV

539 A (L, 52) =F1XE3+F2%U3+ (F3*X+F4%Z) XY+ (FT%XX+FB*Z) *U

540 A (L, 53) =F DXE4+F2%U4+ (FIXA+FAXG) XY+ (FTXA+F8*G) *U

541 A (L, 54) =F1*ES+F2%U5+ (F3*C+F4%xH+F5) XY+ (F7*C+F8*H+F8) xU

5§42 A (L, 55)=FIXEG+F2*U6+ (F3*D+F4* I +F6) XY+ (FTXD+F8x[+F10) *U

543 A (L, 56)=F1XE7+F2%xUT+ (F3XX+F4%*Z) ¥B+ (FTRX+F8%Z) *V

544 A(L, 57) =F IXE8+F2%xU8+ (F3XA+F4%*G) *B+ (FTXA+F8%C) %V

545 A (L, 58) =F 1XEQ+F2%Ug+ (F3*C+F4*H+F5) *B+ (F7*C+F8%H+FQ) *V

546 A (L, 59)=F1*E10+F2%U]0+ (F3%D+F4%+F6)*B+ (FT*XD+F8* [ +F10) %V

547 B18=B(L, 18) :B19=B(L, 19) :B20=B(L,20) :B21=B(L, 21> :B22=B(L, 22):B23=B(L, 23)
:B24=B(L, 24> :B25=B(L,25) :B26=B(L,26) :B27=B(L,27) :B28=B(L, 28) :B29=B(L, 29)

548 B30=B(L,30) :B31=B(L,31> :B32=B(L,32> :B33=B(L,33) :B34=B(L, 34) :B35=B(L, 35
:B36=B(L, 36) :B37=B(L.37> :B38=B(L,38) :B39=B(L,33) :B40=B(L, 40> :B41=B(L,41)

549 B42=B(L,42) :B43=B(L,43) :B44=B(L,44) :B45=B(L,45) :B46=B(L, 46):B47=B(L,4T)
:B48=B (L, 48) :B4S=B(L,49) :B85=B31%3!*H+B32 :B86=B31%3!%*I1+B33 :B81=B18%3!xX :B8

3=B18%3!XxC+B20 :B84=B18%3!*D+B21 :X1=2!%xX%D :X2=2!%*CxH

550 AL, 18)=B1%X18+B2%A18+B51*X5+BY1KAS+XX* (B1B*X+B19%Z) +ZZ* (B22%X+B31%Z)

551 ACL, 19)=B1%X19+B2%A19+B51*X6+B52¥X5+BI1XAG+BO2KAS+BE 1 XXA+B19% (21 kKXAXZ+XX*G) +

B22% (2 1 kZG*X+ZZ*A) +B31%3 1 xZZ*G

552 A (L, 20> =B1%xX20+B2%A20+B51*XT+B5T*X5+BI1*A7+BI5S*AS+BBIKXX+B19% (2 | kXZH¥C+XX*H) +

+B22% (2t kXZKH+ZZ*C) +B23*XZ+BB5*ZZ

553 A (L, 21)=B1%X21+B2%A21+B51*XB+B58%X5+B31¥AB+BS6*AS+BEAXXX+B19% (X1¥Z+XX* ) +B22

% (2 1%XZ* ] +Z7*D) +B24*XZ+BBEXZZ

554 A (L, 22)=B1%X22+B2*A22+B51%X9+B52*¥X6+BS1XA9+BI2*AG+BB1XAA+B1 9% (AAXZ+2 1 kXAXG) +

B22% (GG*X+2 ! *ZG*A) +B31%3 | XZG*G

555 A(L, 23)=BI*X23+B2*A23+B51%X10+B52¥X7T+B57*X6+B91%A10+BI2¥AT+BSSKAG+B8I*2 1 kXA+

B19%2 ! % (AZ*C+XGXC+XAXH) + (B22%2 ! kH+B23) % (XG+AZ) + (B22%C+B85) %2 1 *ZG

557 ACL, 24)=B1*X24+B2¥A24+B51%X11+B52*X8+B58*X6+BI1%A11+BI2¥A8+BIG*AG+B19%2 ! % (AZ

*D+XGXD+XAX 1) +B8AK2 I XA+ (B22%21 ¥ +B24) * (XG+AZ) + (B22*D+B86) ¥2! ¥ZG

558 A(L, 25)=BI1kX25+B2*A25+B51%X12+B57T*XT+BI1%A12+BI5S*AT+B81*CC+B19% (CCXZ+X2%X) +B

20%2 1 *¥X*C+B22% (HH*X+X2%Z) +B23% (X*kH+C*Z) +B25%X+ ( (BB5+B32) *H+B34) *Z

561 ACL, 26)=Bl*X26+B2*¥A26+B51%X13+B57*X8+B58%XT+B91%A13+B35¥AB+BI6*AT+2 1 ¥B8 1*CD+

B19%2 1 (CDXZ+XKD¥H+XKCH ) +B20%X 1 +B21%2 1 kX*kC+B22%2 1 % (HI*X+Z* I XC+Z*H*D) +B23% (XK [+D

*Z) +B24% (X*H+C*Z) +B26%X+ (BB5*2 1% [+B33%2 1 *H+B35) *Z

563 A (L, 27)=B1%X27+B2*¥A27+B51%X14+B58%X8+B91*A14+BI6*A8+B8 1 xDD+B19% (DD*XZ+X1% 1) +B

21%X1+B22% (1 [*X+2 1 k2% [*kD) +B24% (XX [ +D*Z) +B27%X+ ( (BB6+B33) *1+B36) *Z

565 P1=B28*X+B37%Z :P2=B29%xX+B38*Z :P3=B30*X+B39*Z

566 A(L, 28) =B1*X28+B2*A28+B51%X15+BI1%A15+B75XE3+B7 1xU3+YY*P 1 +YU*P2+UU*P3

567 A(L. 29)=B1%xX29+B2%A2S+B51%X16+BI1¥A16+BTS*ET+B76*E3+B7 1%xUT+B72%U3+2 ! XYBXP1+(

YV+BU) xP2+2 1 ¥UV*P3

568 A (L, 30)=B1%xX30+BE2*A30+B51%X17+B31%A1T+BT6XET+B72%UT+BB*P1+BVxP2+VV*P3

569 ACL.319=B1%X31+B2xA31+B52*xX9+BI2¥XAG+B18¥AA*A+B1 GXAAXG+GG* (B22*A+B3 1 %G)

570 ACL, 323 =B1%X32+B2*AZ2+B52KkX10+B5T*XS+BI2%A 1 0+BISKAG+BEI*AA+B1 9% (2 ! KAGKC+AAXH
) +B22% (21 ¥AG¥H+GG*C) +B23*AG+GG*BBS

571 A(L, 33)=B1%*X33+B2*A33+B52%X11+B5SB¥XG+B92%A11+BI6*AG+BBA*AA+B19% (2! KAGKD+AAX]
) +B22% (21 ¥AG* ] +GG4D) +B24*AG+GG*B86

572 A(L, 34)=B1*X34+B2kA34+B52%X12+B57%X10+BI2%A12+BIS5*A 10+ (B83+B20) *AXC+B19% (CC*
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G+X2%A) +B22x (HH*A+X2%G) +B25%A+B23% (AXH+CxG) +G* ( (B85+B32) *H+B34)

574 A(L, 35)=B1*X35+B2xA35+B52*X13+B57%X11+B58%X10+B92%A13+B95%A11+B96%A10+B84*AX
C*21+B19%2! % (CDXG+AXDXH+AXCxk]) + (B20%2!%D+B26) *A+B22x%2 1 % (HIXA+GX [ kC+G*HxD) +B23* (A
*1+D*G) +B24* (AXH+C*G) +G* ((B85% ] +B33*H) *x2 1 +B35)

576 A(L, 36)=B1*X36+B2*A36+B52%X14+B58%X11+B92%A14+BS6%A11+B19% (DD*G+2 ! xAXD*. 1) + (
B84+B21)*D+B27) *A+B22% (I IkA+2 1 %GXx 1%D) +B24* (A% I+D*G) +G* ((B86+B33) * [ +B36)

578 P4=B28*A+B37*G :P5=B29*%A+B38%G :P6=B30*A+B39%G

579 AL, 37T)=B1*X37+B2%A37+B52%X15+BI2%A15+B15%Z 1:xYkE4+B16% (YxLid+EaxU) +S17%2  kUxU
4+YY*P4+YUXP5+UUXP6, .
580 A(L, 38)=B1%X38+B2*A38+B52*X16+BI92%A16+Bi5x2!1% (YAE8+B*E4) +B | 6% (Y:xUS+B¥U4+E8%U
+E4XV) +B17%x2 1% (UXUB+V%U4) +2 1 XYBXP4+ (YV+BU) «P5S+2 1 :kIIVxPg

581 A(L, 39)=B1x%X39+B2xA3Q+D5ZX17+BI2%A17-*B15:k2 I APXEBLR1E% (BXxUS+ES*V) +B17%2 1 xVx%U
8+BBXP4+BVXP5+VVxPg ’

582 A(L 4C7=BI*kX40+B2xA40+B57xX12+BS5%A 12+ (B18%C+B19xH+B20) *CC+ (B23*H+B25) *C+ (B2
2::CrB314H4B32) *<HH+R14xH+B40

580 A (L, 41)=B1¥i41+B2¥A41+B57*X]13+B58%X12+B35*A13+B96%A12+B19% (2! xCD*H+CCxI) +B84
*CC+BILI*2 ! %CD+B22% (2! xHI*C+HH*D) +B23% (Cx ] +D*H) +B24*C*xH+B25%D+B26%C+ (B8S+B32) *HI +
B33%HYN+B34xI1+B35%H+B41

585 A(L, 42)=B1%X42+B2%A42+B57*X14+B58%X13+B95%A14+B96%A13+B83%DD+B18% (DD*H+2{%*CD
*1)+B21%2! xCD+B22% (1 I*C+2 ! *H[*D) + (B23%D+B35) * 1 +B24% (Cx ] +D*H) +B26*D+B27*C+B85xI I +
B33%21xHI+B36%xH+B42

587 P7=B28*C+B37*H+B43 :PB8=B29*C+B38xH+B44 :PS=B30*C+B39%H+B45

588 A(L, 43)=B1%xX43+B2xA43+B57%xX15+B95%A15+BT5%ES5+B16% (YXUS+E5%U) +B71%XUS+YY*P7+YU
*P8+UUxP9

589 A(L, 44)=B1%X44+B2*A44+B57%X16+B35%A16+B75*EQ+B76%ES+B71%xU3+B72%U5+2 ! XYBXP 7+
YV+BU)Y *xP8+2! %xUVxP9

580 A(L,45)=B1%X45+B2xA45+B57%X17+B95%A17+B76%E9+B72%U9+BB*xP7+BV*P8+VV*Pg

591 A(L, 46)=B1%X46+B2*xA46+B58%X14+B96%A14+DD* (B18xD+B19%[+B21) +D* (B22%] [+B24*1+B
27>+ (B31*1+B33)x] I+B36*1+B46

592 K1=B28xD+B37%1+B47 :K2=B29*D+B38*1+B48 :K3=B30%xD+B39%[+B49

593 A(L,47)=B1*X47+B2%A47+B58%X15+BI6%A15+4B75S*EG+B71*US+YYXK1+YU*K2+UUxK3

584 A(L,48)=B1*X48+B2%A48+B58%X16+BI6%A16+B75%xE10+B76%E6+B71%xU10+B72*xUB+2 ! xYBxK1
+ (YV+BU) xK2+2 1 %xUVxK3

595 A (L, 49)=B1%xX49+B2xA49+B58%X17+BI6*A17+B76*E10+B72%U10+BB*K1+BV*K2+VV*xK3

586 NEXT L :RETURN

600 ®"ELECTRIC FRINGING FIELD ENTRANCE’

601 GOSUB 400 :JA=Cix*IE1A-2!xIE1B

602 B(l, 1)=1'+IA :B(1,4)=IE1A%AE :B(2, 1)=-(2!%]E4A+IE1AX%Q1)/AE :B(2,2)=1!-1A
606 B(1, 5)=. 5/AE :B(2,5)=(4!x((C1+. SYXIE4A—1. SXIE4B-IE1AXIES+IE7)-Q1*. 5) /AE2
608 B(2,8)=4!*]E4A/AE :B(2,15)=¢( 5%Q1-C1*IE4A) /AE2

610 B(1,50)=11! :B(2,5D=1! :B(2, 52)=Q1/AE2 :B(2,56)=1!/AE -

612 B(1,18)=((5!-2!'*C1)/6!-4!/31*IEB)/AE2 :B(1,21)=-.5/AE :B(1, 28)=. 5%C1

620 B(2,18)=( 5%(C1-2!)*Q1-4!'/3!'*IE5) /AE3

622 B(2,19)=( 5%(C1-11-111/3!*xI1EB)/AE2 :B(2, 21)=. 5%Q1/AE2
624 B(2,28)=(1'-1. 5*C1)*Q1/AE3 :B(2,29)=-C1/AE2
626 B(2,47=-B(2,2D :RETURN

650 'ELECTRIC FRINGING FIELD EXIT®

651 GOSUB 400

652 B(1, 1)=11~1A :B(1,4)=~[EI1A%AE :B(2, 1)=-(2!*]E4A+IE1A%Q2) 7/AE :B(2,2)=1+]A
656 B(1,5)=-,5/AE :B(2,5)=((4!*C1+3!)*IE4A-6!*IE4B~4!* (IE1AXIES—1E7) -Q2x. 5) /AE2
658 B(2,8)=4!%*IE4A/AE :B(2, 15)=( 5%Q2-C1*IE4A) /AE2

660 B(1,50)=1! :B(2,5D=1" :B(2, 52)=Q2/AE2 :B(2,56)=-1!/AE

662 B(1,18)=((C1-11)/3!+4!/3!'*1E8)/AE2 :B(1,21)=.5/AE :B(l,28)=-. 5%C1

670 B(2,18)=( 5%(C1-1!>*%Q2-41/3!*1E5) /AE3

672 B(2,19)=(11!/3!*]E6~. 5%(C1-1!))/AE2 :B(2, 21)=. 5%Q2/AE2
674 B(2,28)=(1!-1. 5%C1)*Q2/AE3 :B(2,29)=-C1/AE2
676 B(2,47)=-B(2,2D :RETURN

800 'ELECTRIC FIELD MAIN®

801 GOSUB 400 :U=SQR(2!) :RU=1!/U :W=WE*3. 14159/180! :S5=SIN(UXW) :C=COS (U*W)
B02 CC=CXC-S%*S :S2=S*S :SC=5S*CxU :S3=S2x%xSxU :SW=UXSkW/12! :CW=CxW/12!

803 CA=1!-C :US=UxS :3S2C=S2%C :CX=CA+7!*S2

804 B(1,1)=C :B(1,2)=S*RU*AE :B(1,4)=CA*AEx. 5§ :B(l,50)=1! :B(1, 51)=WkAE

808 B (2, 1)=-US/AE :B(2, 2)=C :B(2,4>=US%. 5 :B(2,51)=1!

810 B{1,82=(C/6!+71 /12! *CC~. 75} /AE :B(1, 8)={T!1%3%C—-41*3) /3! %RU

812 B(l, 8)=-AExB(1, 5) :B(1, 9=(21/3!%C-7!/24!*CC-. 375) ®*AE
814 B(1, 11)=7!/6!*RUXS*CA*AE :B(1, 14)=(CA-3. 5%S2)/12!*AE :B(1, 17)=-B(1, 4)
818 B(2, 5)=-(US+8!*SC) /6! /AE2 :B(2,6)=-4!/3!%(C-CC)/AE

320 B(2,8)=2!/3!*Ux(S+21%S*C) /AE :B(2, 9)=-21/3!*%USxCA
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822 B(2,11)=21/3t*x(C-CC) :B(2, 14)=-B (2, 8)*. 25%AE :B(2,1)=-B(2, 4
826 B(1, 56)=US-W :B (1, 57)=CA*AE :B(1, 59)=(W~, 5x%US) *AE

828 B(2,56)=-CA/AE :B(2,57)=.5*US :B(2,59)=. 5*%CA

830 B(1,18)=-(CX/18!'+SW+17!/12!%xS2C) /AE2

832 B(1l, 19)=(95!*US/72!+CW~49%SC/36-2. 125%S3) 7AE

834 B(1,21)=(CX/6!+1. 5%xSW+2. 125%S2C) /AE

836 B(1,22)=14/9!%CA-. 5XSW-28!/9!%52+2. 125%52C

838 B(1, 24)=-951%US/72!-CW+43!%SC/36!+2. 125%S3 )

840 B(1,27)=-CX/12!-. 75%SW-1. 0625*S2C :B(1, 30) =(5'*CA--T!%*53),6!
844 B(1,31>=(-115%US/144!+CWx, 5+71%SC/9!+17!:+$3,748) *AE

846 B(1,33)=(~10!/9!'*CA+. 25%SW+133!/72i*%22~1. 0625%«32C) *AT

848 B(1,36)=(137!*%US/288!+CWx, 25-35!%SC/T2!~, 53125¥S3) *AE

850 B(1, 38)==T7!*%11/17%SkCANVAF

852 B(1,455=(CA/36! . 125KV T1/14414S2+17" 756 1%S2C) %AE

854 B{1,4D=C(-21/3VkCA+T/]12!%S2)*AE

858 B(2, 18)=(-Ei! /36! %XUS-CWk2!—41/9!*xSC+1. 75%53) /AE3

858 B2, 1 PD=(-141/9!'*%CA-SW+28!/9!%52-5. 25%52C) /AE2

860 E <2, 21)=(2. 875%US+3 ! *CW+2!%xSC—-2. 625%S3) /AE2

862 B(2,22)>=(187!/72!*US-CW-32!/9!%*5C~2. 625%S3) /AE

864 B(2,24)=(8!/9!*CA+SW-16!/3!%352+5, 25%S2C) /AE

866 B(2,27)=(=77!/48!%US-1]1. 5*%CW-4!/3!%SC+1. 3125%53) /AE

870 B(2, 30>=(US-4!*SC)/3!/AE :B(2,31)=81/9!%CA~. 5%SW—-16!/9!%x352+, 875%S2C
872 B(2,33)=-187!/144!%US+CWx, 5+16!/9!%SC+]1. 3125%S3

874 B(2,36)=—2!/9!%CA—, 25%SW+4!/91*xS2~1. 3125%52C

876 B(2,39)=2!/3!*(CA-2!%S52) :B(2,46)=T771/288!%US+CWx, 25+2!/8!%xSC—. 21875%S3
880 B(2,49)=2!/3!%(SC-. 25*%US)
882 RETURN

700 *MAGNETIC FRINGING FIELD ENTRANCE®

701 GOSUB 400 :E1=E1x%3. 1416 /180! :C=COS(E1l) :TF=SIN(E1)/C :T2=TFxTF :T3=T2*TF
702 C2=Cx*C :C3=C2%C :TAM=TF/AM :T2M=T2/AM :RC=R1/C3 :TR=TF*RC :B3=. 5%IM1*AM/C2
704 BQl, ID=1!-2!'%xTR¥IM]1 :B(1,3)=B3 :B(1,2)=-4!%*TF*B3 :B(1, 4>=B3

706 B(2, D=(TF+RI*IM1I* (TF*R1%x (2! +31%T2) -2!%T2/C)/C2) /AM :B4=. 5XTFxIM]1/C2

708 B(2,2)=1!'+2!xIMI1*(TR-T2/C2> :B(2,3)=B4 :B(2,4)=B4 :B(1,50)=1! :B(2,51)=1!
710 B(2,50)=—(TF+ (1! +2!%T2) /C*xIM4) /AM :B(1, 5>=-, 5*%T2M :B(1, 12)=-, 25%B3

712 B(1,13)=.5%B3 :B(1, 14>=-,25%B3 :B(1,15)=(C 5/C2+TF*(2 5+3!1%T2) /C*IM4) /AM
714 B(2,5)=. 5%RC/AM2 :B(2,6)=T2M :B(2, 7T)=-. 5%TAM :B(2, 8)=-. 5XxTAM

715 B(2,12)=-, 25%¥B4 :B(2,13)=. 5%B4 :B(2,14)=-. 25%B4

716 B(2, 15)=(TF* (. 5+T2) +IM4/C* (T2% (3. 5+5!%T2) -R1*TFx (2. 5+3!%T2) /C) —. 5%RC) /AM2
718 B(2,16)=—(T2+TF/Cx (1!+2!*T2)*IM4)/AM :B(1, 52)=T2M :B(2, 52)=-RC/AM2

720 B(2,53)=-1!/C2/AM :B(2, 54)=. 5*%TAM :B(2,55)=B(2,54) :B(2,56)=-T2M

722 B(1, 18)=-. 5%TR/AM2 :B(1,19)=-T3/AM :B(1, 20)=. 25%T2M :B(l,21)=. 25%T2M

724 B(1,28)=(~T2%(, 54T2)+1. 5%TR) FAM2 :B (1, 28)=TAM* (1! +2!%T2)

726 B(1,37)=TAM/C2 :B(1,40)=B3%. 125 :B(1,41)>=-B(1,40) :B(1,42)=B(}1,41)

727 B(1,43)=-. 25/C2/AM :B(1,46>=B(1,40) :B(1,47>=B(1,43)

728 B(2,18)=. 5% (T3+TR*R1/C) /AM3 :B(2, 19)=1. 5% (T2+TR)/AM2 :B(2, 20)=-. 25%RC/AM2
730 B(2,21)=B(2,20) :B(2,22)=TAMX*(1.5+T2) :B(2,23)=-, 5%T2M :B(2, 24)=-. 5%T2M
732 B(2,25)=. 375%TAM :B(2, 26> =. 25%TAM :B(2,27)=. 375%TAM

736 B(2,28)=(. S¥*T3+RC* (. 5+3!#T2~-1. 5%TF*R1/C))/AM3

738 B(2,28)=(2!%T2%T2-3!*TR) /AM2 :B(2, 30)=TAM* (. 5-T2)

740 B(2,37)=(3!*%T2/C2-1. 5%TR) /AM2 :B(2, 38)=-2!*TAM/C2

742 B(2,40>=B4x, 125 :B(2,41)=-B4x*. 125 :B(2,42)=-B4x, 125

744 B(2,43)=(. 25%RC-TF* (. 5+T2)) /AM2 :B(2, 44)=. 5%T2M :B(2,46)=B(2,40)

746 B(2,47)=B(2,43) :B(2,48)=. 5%T2M :RETURN

750 *MAGNETIC FRINGING FIELD EXIT®

751 GOSUB 400 :E2=E2%3. 1416 /180! :C=COS(E2) :TF=SIN(E2)/C :T2=TF*TF :T3=T2%TF
752 CT2=C*C :C3=C2*C :TAM=TF/AM :T2M=T2/AM :RC=R2/C3 :TR=TF*RC: B3--.5*IM1*AM/C2
754 B(1, 1)=1!+21'% (TR-T2/C2)*IM1 :B(1,3>=B3 :B(1, 2)=4!%TF*B3 :B (1, 4)=B3

756 B(2, 1)=(TF+R2XxIM1% (TF*R2x (2! +31%xT2) ~2!*xT2/C) /C2) /AM :B(2,2)=11-2!'%IM1*TR
760 B(1,500=1! :B(2,51)=1! :B(2,500=~(TF+(1!+2!%T2)/CxIM4) /AM

762 B(1, 5)=. 5%T2M :B(1, 15)==( S5/7C2+TF*x (2. 5+3!%T2) /CxIM4) /AM

763 B(l,12)=-.25%B3 :B(1,13)=.5%B3 :B(l, 14)=-, 25%B3

764 B(2,5)=. 5% (RC-T3)/AM2 :B(2,6)=-T2M :B(2, 7T)=~. 5*TAM :B(2, 8)==. 5*TAM
766 B(2, 15)=~. 5% (RC+T3+4 ! *¥T2xIM4X (, 5+T2) /C+TF*xR2/C2% (5! +6!*T2)*IM4) /AM2

768 B(2,18)=(T2+TF/Cx (1!+2!%T2)*xIM4)/AM :B(]1,52)=-T2M :B(2, 52)=(TF/C2-RC) /AM2
770 B(2,53>= 11/C2/AM :B(Z, 54)=. 5%TAM :B(2,555=B(2,54> :B(2,56)=T2M

772 B(1, 18)=. 5% (TR-T2%T2) /AM2 :B(1,19)=-T3/AM:B (1, 20) ==, 25%T2M:B (1, 21) ==, 25%T2M
774 B(1,28)=( 5%T2%(2!'+T2)~1. SXTR)/AM2 :B(1, 29)=TAM* (1!+2!*T2)

776 B(1,37)=TAM/C2 :B(1,40)=B3%. 125 :B(1,41)=-B3*%. 125 :B(1,42)=-B3x. 125

777 B(1,43)=. 25/C2/AM :B(1,46)=B(1,40) :B(1,47)=B(1,43
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778 B(2, 18)=. 5% (T3/C2+RCx (TF*R2/C-21*%T2)) /AM3 :B(2, 19)=1. 5*(T2/C2-TR) /AM2
780 B(2, 20)=. 5%(T3~. 5%RC) /AM2 :B(2,21>=B(2,20) :B(2, 22)=TAM* (1. 5+T2)

782 B(2,23)=. 5%T2M :B(2,24)=. 5%T2M :B(2,25)=, 375%TAM :B(2, 26)=. 25%TAM

784 B(2,27)=. 375%TAM :B(2,28)=1. 5%(T3-TF*R2x%R2/C2) /C2/AM3 :B(2, 30)=TAMx* (. 5-T2)
786 B(2,28)=1. 5% (T3-TFxR2%R2/C2) /C2/AM3

788 B (2, 29)=(3!%TR-T2% (2!+T2))/AM2 :B(2,37)=1. 5%(T2/C2+TR) /AM2

790 B(2,38)=-2'*TAM/C2 :B(2,43)=( 5XT3+. 25%RCI/AM2 :B(2,44)="- H¥T2M

796 B(2,47)=B(2,43) :B(2, 48)=—. 5%T2M *RETURM

900 'MAGNETIC FIELD MAIN" °

901 W=WM*3. 1416 /180! :S=SIN(W :C=CZSIW; (S2=S*S :C2=Ck :SC=S«C :I3=52%S
902 B3=(1!-C)*. 5%AM :B4=Sx § :B5=B4,/AM :BS5:=S%. 25

804 GOSUB 400 B 1D=C iB(1,2)=S¥pM  :B(!.3>=L3 :B(1,4)=B3

806 B(2,1Y=-=/AM :B(2,2)=C :B(2.3)=B4 :B(2,4>=B4

9:0 B(1.50)=1! :B(1, 5i)=\rAM :B(2,51)=1! :B(1, 5)=—-B5%S

812 B(1,6)=SC :B(1, 7>=S2x%. 5 :B(1,8)=82%.5 :B(1, 9)=B3*%C

914 B(1,10)=B3%S :B(l,11)=B3*S :B(1, 12)=, 125% (C+C2~-21) *AM

818 B(1,13)=, 25%(C2-C) *AM :B(1,14>=B(1,12) :B(1, 17>=-B3

920 B(1,56)=S :B(1, 57)=B3x2! :B(1,58)=(W-S)*AM*. 5 :B(1,59)=B(}1,58)
824 B(2,7>=BS :B(2,8)=BS :B(2,9)=-B4 :B(2, 12)=-8x%, 375
826 B(2, 13)=-B6 :B(2,14>=-5%,375 :B(2,17)=-B4 :B(1, 20)=. 25%52/AM
930 B(1,21)=B(1,20):B(1,22)=-, 5%S2 :B(1,25)=-S2%, 375 :B(1, 26)=-S2%. 25
832 B(1,27>=-52%, 375 :B(1, 30)=-. 5%52 :B(1, 31)=—-B3%S
936 B(1, 32)=. 25% (C-C2+S2)*AM :B(1,33)=B (1, 32)

838 B(1,34)=(SC-S)*xAMx, 125 :B(f, 35)=B3*S*. 5 :B(1, 36)=B(1, 34>
840 B(1,39)=-B3%S :B(1,40)=. 125%S2%AM+ (1!{-C)*AM/16!

942 B(1,41)=. 125%xS2%AM-(1!-C)*AM/16! :B(1,42)=B(1,401

944 B(1,45)=B3x%Cx. 5 :B(1,46)=B(1,40) :B(1,49)=B(1,45)

950 B(2, 18)=-. 5%S3/AM3 :B(2,19)=1. 5%S2xC/AM2 :B(2,20)=. 75%53/AM2
952 B(2,21>=B(2, 20 :B(2,22)==1. 5%S*xC2/AM :B(2,23)=-1. 5*%S2xC/AM
954 B(2,24>=B(2,23) :B(2,25)=-.375%(S3+S)/AM :B(2,26)=—(. 75%53+. 25%3) /AM
956 B(2,27)=B(2,25) :B(2,30)=-B5 :B(2,31)=-B4%SC :B(2, 32)=. 75%x5%C2
860 B(2,33>=B(2,32) :B(2,34)=. 375%52xC :B(2, 35)=, 75%S2*C

962 B(2, 36)=B(2, 34) :B(2,40)=. 0625% (S3+5!*S) :B(2,41)=. 1875% (5+53)
866 B(2,42)=B(2,4D :B(2,45)=B6 :B(2,46>=B(2,40) :B(2,49)=B6
968 RETURN

1000 *MATRIX MULTIPLICATION FOR QUADREUPOLE ONLY®

1001 X=AC(1, 1):A=A(1,2):Z=A(2,1):G=A(2,2) : Y=A(1,50):B=A(1,51):U=A(2,50):V=A(2,51)
1002 X8=A(1,8) :X11=A(1,11) :A8=A(2,8) :Al11=A(2,11)

1007 E6=A(1,55) :E10=A(1,59) :U6=A(2,55):U10=A(2,59

1010 XX=X*%X :XA=XX¥A :XZ=X%Z :XG=X*G :AA=AXA:AZ=AXZ:AG=AXG:ZZ=7*%Z:ZG=7*G:GG=G*G
1011 YY=YXY :YB=Y¥B :YU=Y*U :YV=Y%V :BB=BxB:BU=B*U:BV=BxV:UU=UXU:UV=U%V:VV=V*xV
1012 X18=A(1,18) :X18=A(1,19) :X22=A(1,22) :X27=A(1,27):X28=A(1, 28) :X28=A(1,29
1013 X30=A(1,30) :X31=A(1,31) :X36=A(1,36) :X37=A(1,37):X38=A(1,38):X39=A(1,39)
1015 A1B=A(2,18) :A19=A(2,19) :A22=A(2,22) :A27=A(2,27):A28=A(2,28):A23=A(2,29
1016 A30=A(2,30) :A31=A(2,31) :A36=A(2,36) :A37=A(2,37):A38=A(2,38):A33=A(2,39
1019 FOR L=1 TO 2

1020 Bi=B(, 1) :B2=B(L,2> :F1=B(L,50) :F2=B(L.5D

1021 AC(L, 1)=B1*X+B2%Z :A(L, 2)=B1*A+B2%G :A (L, SOX=F1*Y+F2%U :A (L, 51)=F1*B+F2xV
1023 B8=B(L,8) :Bi1i=B(L,11) :F6=B(L,55) :F10=B(L, 59

1025 A(L, 8)=B1*X8+B2*A8+B8%X+B11%Z tACL, 11)=B1%X11+B2%A11+B8*A+B11*G

1027 AL, 55)=F1*EG+F2*UB+F6*Y+F10%U tA(L, 59)=F1*%E10+F2%U]0+F6*B+F10%V

1030 Bis=B(L,18) :B19=B(L, 18) :B22=B(L,22) :B27=B(L, 27):B28=B(L, 28) :B28=B(L, 29)
1032 B30=B(L, 30> :B31=B(L, 31> :B36=B(L,36) :B37=B(L, 37):B38=B(L, 38) :B39=B(L, 39
1034 A(L, 18)=B1*X18+B2xA18+XX* (B18%X+B19%Z) +Z2Z% (B22%X+B31*Z)

1036 A(CL, 19)=B1%X18+B2*A19+B18%3 1 kXX*A+B19% (2! XXAXZ+XX*G) +B22x% (2! *ZGxX+ZZ*A) +B31
*3 1 %ZZ*G

1038 A(L, 22)=B1%X22+B2%A22+B18%3!*XAXA+B19% (AAXZ+2!%XAXG) +B22% (GGXX+2 1 *ZG*A) +B31
*3 ! %ZG*G

1040 ACL,27)=B1%X27+B2%A27+B8%X8+B11*A8+B27%X+B36%2Z

1041 P1=B28*X+B37%Z :P2=B29%X+B38%Z :P3=B30%X+B33%Z

1042 A(L,28)=B1%X28+B2%A28+YY*P14YUxP2+UUxP3

1044 A(CL, 29)=B1*X23+B2%*A29+2!%xYB*P1+ (YV+BU) *P2+2!*UV*P3

1046 ACL,30>=B1%xX30+B2%xA30+BB*P14+BV*P2+VV*P3

1048 AL, 31)=B1%X31+B2Z*XA31+B18X%AAXA+B19%AAKG+GGX (B22*A+B31%G)

1050 A(L, 36)=B1*X36+B2*A36+B8*xX11+B11%A11+B27*%A+G*B36

1051 P4=B28%A+B37%G :P5=B29%A+B38%*G :P6=B30%*A+B39*G

1052 A(L,37)=B1*X37+B2*A37+YY*P4+YUXxP5+UUXP6

1054 A(L, 38)=B1*X38+B2*A38+2!*xYB*P4+ (YV+BU) *P5+2 ! xUV*P6



44 5 i % #H 1996 4

1056 A(L, 38)=B1%X39+B2%A39+BB*P4+BV*P5+VV*P§

1058 NEXT L :RETURN

1100 'ELECTRIC QUADRUPOLE °*

1101 GOSUB 400 :PN=ABS(QK)/QK :K=QK :KK=K*K :KKI1=KK*IQ1 :U3=KKI1xPN
1102 A=1t-U3 :B=-2!*KK*IQ2%PN :U=-KK*KK*1Q3 :V=1!+U3

1106 U4=1!/6!*KKXPN :US=-7!/6!*KK*KK*IQ4 :U6=. 5%¥KK*KK*1Q4 :U7=—. S*KK*PN
1108 F=QK*QL :EQ=EXP (F)

1110 IF PN=1! THEN 1115

1112 S=(EQ-1!/EQ)x. 5 :C=(EQ+1!/EQ)*. 5§ :SH=SIN(F) :CH=COS(F) :GOTO 112%
1115 S=SIN(F) :C=COS(F) :SH=(EQ-1!/EQ)*. 5 :CH=(ZQ+1!/EQ)*, 5

1120 D=QL :H=QK :HH=H*H :HHH=HH*H :SD=S*D :CD=C*D :5DD=3D*D :CDD=CD*D

1122 HCD=H*CD :HS=H*S :V2=S/H :WI=-HS*PN :VSi=SHsH :W50=H*SH*EN
1125 V8=. 5%HXSD*PN :V11=, 5% (S/H-CD;  :W&=. SxHA* (HCD+S) «PN

1127 V55=-, 5*H*SH*D*PN (V58=, 5% (SH/H-CH¥D)  :W55:=—, 544 (1xCHXD+SH) *PN
1129 V18=-. 5%HHH*SD V16 =, 5% (HH*CD-HE) PN

1130 V27=-, 125% {3 *H*SD+HM*TDD) *PN :V3e==. 125% (S/H-CD+H*xSDD*PN)
1134 W18=-, 5xHHFE* GICD+S) (W27== L, 625*HXHCD+. 375%HS) *PN+. 125%HHH*SDD

1140 X!=CrA+VZXU 1 {2=C*kBHV2%V  :YI=WIRA+CxU :Y2=WIXB+CxV
1143 X50=CH¥V+VIL1xU :X51=—-CH*B+VS1%A :Y50=WS50%V+CH%U :YS51=-W50%B+CH*A

1145 XB8=CxU3+V8xA+V11x%xU :X11=-V2*xU3+V8*B+V1 1%V
1146 X55=-CH*U3+V55XV+V59%U :X59=V51%U3-V55%B+V539%A
1147 YB=WI*xU3+W8*A+V8*xU :Y11=—C*U3+W8XB+V8*xV

1148 Y55=-W50*U3+W55%V+V55xU  :Y58=CH¥U3-WS5%B+V55%A
1150 AA=AXA :VV=VxV
1151 X18=C*U4+V2XxUS+AAXV]I8XA+V]19%*U:Y]I8=W1IkU4+CKUS+AAXW]1B*A+V]18%U

1152 X18=V18%31%B+V19kA-VE8x2!xU :Y18=W18x%31%B+V18XA-W8%2 ! xU
1153 X22=V189x2!%B-V8%V-V11%3!x%l :Y22=V18%2 1 %B-W8%V-V8%3 ! %U
1155 X27=VB8*U3+V27xA+V36*U 1Y2T7=W8*U3+W27TXA+V27%U

1157 X28=V2*UE-V18%V-V19%xU 1 Y28=C*U6—W18%V-V18x%U

1158 X29=2!%(V18%B-V8*l) 1 Y29=21% (W18%B-W8xU)

1158 X30=-V8XAAXA-V]1%U 1 Y30=-WBXAAXA~VB*U

1160 X31=-V8X%B-V11xVxVV $Y31=-WBXB-V8XVXVY

1162 X36=V11xU3+V27xB+V36*V 1Y36=V8*U3+W27X*B+V27xV

1164 X37=V2xUT7-V1B8XB-V19*%VVXxV :Y37=CxU7-W18%B-V18%VVxVy

1165 X38=2!%(V19%xB-V11*xU) 1 Y38=2!%(V18%B-V8xU)

1166 X39=-V8%B-V11*xA : Y39=-W8%B-V8x*A

1170 B(1, 1)=V*X1+BxY} :B (1, 2)=V*xX2+B*Y2

1171 B(2, 1)=UXX1+A%Y] :B (2, 2)=UxX2+AXxY2

1172 B(1, 50)=A%X50-B*Y50 :B(1, 51)=A%X51-BXYS51

1173 B(2, 50)=UxX50+V*Y50 :B(2, 51)=UxX51+4+V*xY51

1174 B(1, 8)=VxX8+B*Y8-U3%X1 :B(1,11D=VxX11+BxY11-U3%X2
1175 B(1, 55)=A*X55-BX*Y55+U3%X50 :B(1, 59)=A%X59-B*Y59+U3%*X51]
1176 B (2, 8)=UxXB8+A*Y8+U3%Y1 :B(2, 11)=UxX11+AXY]11+U3%Y2

1177 B(2, 55)=U%X55+V*Y55-U3%Y50 :B (2, 59) =U%X59+VkY53-U3xY51

1178 XS1=X1xX1 :YS2=Y2%Y2 :XS2=X2%X2 :YSI=Y1xYl

1180 B(1, 18)=V*xX18+B*Y18-U4xXS1xX1 :B(2, 18)=U%xX18+AxY]18+USXXS1%X1
1181 B(1,19)=V¥X19+B*xY]19-U4%3!*XS1xX2 :B (2, 19)=UxX19+A%XY19+US%3 ! *XS1%*X2
1182 B(1, 22)=V*xX22+B*Y22-U4*3 ! %X 1%XS2 :B (2, 22) =U*X22+A%Y22+U5%*3 1 %X 1%XS2
1183 B(1,27)=V*X27+B%Y27-U3%X8 :B(2, 27)=UxX27+AXY27+U3%Y8

1184 PI=UBXX1-UT7xY1 :P2=UEXX2-UT7TxY2"

1185 B(1,28)=VxX28+BXY28 :B(2, 28)=UxX28+A%Y28+P1*X50%X50

1186 B(1, 29)=VxX29+BxY29 :B(2, 29)=UxX29+AXY29+P1%2!%xX50%X51

1187 B(1, 30)=V*xX30+B*Y30 :B(2, 30>=UxX30+AXY30+P1%X51%X51

1188 B (1, 31)=V*kX31+BxY31-U4*XS2%X2 :B(2, 31)=U%X31+AxY31+USkXS2%X2

1189 B(1, 36)=VxX36+B*xY36-U3%X11 :B(2, 36)=U*X36+AxY36+U3%Y11

1191 B(1, 37)=V%]37+B*Y37 :B(2, 37)=UxX37+AXY37+P2xX50%X50

1192 B(1, 38)=V*X38+B*Y38 :B(2, 38)=UxX38+A%Y38+P2%2 1 xX50%X51]

1193 B(1, 39)=VxX39+B*xY38 :B(2, 39)=U%X39+AxY39+P2xX51%X51 :RETURN

1200 'ELECTRIC OCTAPOLE’

1202 Z=OLE :F=0OKE :FZ=F*%Z :FZ2=F7Z%Z :FZ3=FZ2%Z :FZ4=FZ3%7 :FZ5=FZ4x%Z
1204 GOSUB 400 :B(1,1>=1t :B(1,2>=Z :B(2,2)=1!':B(1,500=1':B(1,51)=Z:B(2,51)=1!
1206 B(1,18)=FZ2%. 5 :B(1, 19)=FZ3*%. 5 :B(1,22)=FZ4*. 25 :B(1,28)=-FZ2%1.5

1208 B(1, 29)=-FZ3 :B(1,30)=-FZ4*. 25 :B(1, 31)>=FZ5%, 05
1210 B(1,37)=-FZ3%. 5 :B(1,38)=-FZ4x. 5 :B(1,38)=-FZ5%, |§
1212 B(2, 18)=F*Z :B(2,19)=FZ2%1.5 :B(2,22)=FZ3 :B(2, 28)=-FZx3!
1214 B(2,28)=-FZ2%3!' :B(2,30)=-FZ3 :B(2,31)=FZ4x. 25

1216 B(2,37)=-FZ2*%1. 5:B(2,38)=~-FZ3*%2! :B(2,33)=-FZ4*, 75 .RETURN
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